 EQ a\s\up8(4)+6a\s\up8(3)+9a\s\up8(2) =
Выносим общий множитель.

= EQ  a\s\up8(2)\b(a\s\up8(2)+6a+9) =

Разложим одночлены в сумму нескольких.

= EQ  a\s\up8(2)\b(a\s\up8(2)+3a+3a+9) =

Производим группировку.

= EQ  a\s\up8(2)\b(\b(a\s\up8(2)+3a)+\b(3a+9)) =

Выносим общий множитель.

= EQ  a\s\up8(2)\b(\b(a+3)a+\b(a+3)3) =

Выносим общий множитель.

= EQ  a\s\up8(2)\b(\b(a+3)\b(a+3)) =

Раскрываем скобки.

= EQ  a\s\up8(2)\b(a+3)\b(a+3) =

Воспользуемся свойством степеней.

= EQ  a\s\up8(2)\b(a+3)\s\up8(2) 
